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2 Formula of a Hydrate é

Results and Calculations

A. Potassium Alum:

| . .. Goase Sa
| Mass of empty crucible |
| , - | -
| Mass of crucible and the alum ' 23.79g
Mass of crﬁﬁible and anh?ﬂrous salt : 23.27 q
Mass of alum :- .09 g |
Mass of anhydrous salt &5 3 s
I Mass of water lost upon heating D5} ¥
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' NMumber of moles of water lost upon heating (molar ol
_mass =18.0 gimol) _ N
' Number of moles of anhydrous salt (| KAI(SO,).) 00027  mol
molar mass = 258 g/mol _ - :
_: Percentage of water of crystallization, by mass Al % &>\
"The value “x" in the formula, (number of moles of o |
water of crystallizaticn / number of moles of Bl ’2"
“anhydrous salt) |
- e
e R(N\
qy S
0
1




2) A student heated 1.16 g of hydrated sodium sulfate(NapS04) in a8

crucible to  get 0.51 g of anhydrous sall{molar mass= 142 g/mol}.

What is the formula of the hydrated salt?
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Quiz 2
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Results and Calculations

2 N83PO4{aq] + 3 BEIC!E{M:, 4 533{:'354)2(5] +6 NEC'{aq}

A. Precipitation of Baz(POy)2:

Mass of salt mixture

0764 |

Mass of filter péper 0624
Mass of filter paper and Bas(PO.); 0.81g
B. Determination of the Limiting Reactant:
Limiting reactant in salt mixture is =~ Na;PO,
Excess reactant in salt mixture is BaCl,
Mass of Bas(PO,); precipitated dolge g ‘
Number of moles of Bas(PO,), precipitated (molar | |

= 316 x\o' mol |

' mass = 601.64 g/mol) J 8
L — L
Number of moles of Na;PO, .12H;0O reacted > o 1
3 4 2 é " 3 E_ ¥ Vo mﬂl .IJI
Number of moles of BaCl..2H,O reacted 9. 43 viv l
mo
Mass'é‘F_NagF'O‘; . 12sz reacted _ _
(molar mass = 380.2 g/mol) g.140 ,-*'Qﬁj
Mass of BaCl,.2H,O reacted _ z
023/

(molar mass = 244.2 g/mol) /

Mass percentage of Na;PO,




2).A mixture of 0.65 g BaCl,. 2H,0 (molar mass 244.2 g/mol} and 0.35 ¢
NazP04.12 H,O (molar mass 380.2 g/mol) was dissolved in water

Which of the two reactants is the limiting reactant? Calculate the mass
of Bay(PO,): (molar mass 601.64 g/mol) precipitate formed

3 .J?m:{'.'ﬂ'[a ¢=2{\/q-3 P{j"f — ( )

X ¢'f'-,rli)‘ 3' "T'{SHF' C
i J
i
= .dé) h__jfja-z = Lélvv-ﬂ ﬁ' e BG':CL.L Eé-tfbffﬂ =0, Sﬁi’y
2.2 ~ff g W |
e 4 | R, ]
= b ¥ !/
\ o Clven 'E;f'r::m Uﬂ}?o j _C‘Lt_!/'!_l'; “f.bli!lf-

LS J.J_ﬂ.lg R 4

’\/< : p= 1'2“""’“:" aut.

: '\
e | Ecu (?C':‘*i);:_ = o.2giYie A Gov. 6y :@5’3%‘ g \ =t

w1




Onenitstey Doparimem  he 1{?6{

N
Lan

Mame: 2 por s
Volumeriric Analfvsis

Ouestion {

Given the follewing set of data:
Volume of vinegar solution= 20.00 rai.

Yolume of 0.15 M NaOH solution needad 1o neutealize acid in above
vinegar solution = 18.00 mi..
Density of vinegar selution = 1.05 g/mb..

] 1 v K e = P A S ) Yy et = HPI
Calculate the mass percent of acetic acid! molar mass — 600 g/mol) tn shave

vinegar solution,
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Question 2

a} Given the follewing set of data:

Mass of antacid sample = 0.30 g . B

Volume of 0.12WM HCI solution added £ 60,00 nil. AR B

Volume of 0.10M NaOH solufion needed for back tration = 10.00 mhb. iz 16 %16 mat
Calculate the number 6f moles of FICT neutralized by 1Q0ig tabiet

i-"“..h-.__; -516yf{;1-—qt

b} Given:

Density of stomach acid is 1.10 g/mL.

Concentration of stomach HC] is 0.10 M.

Neutralization capacity of antacid is 0.030 mol 1/ o tablet.

Calculate the mass of stomach acid that can be neutralized by 1.00 g antacid
tablet



